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Lesson Conversation (Kanji Edition)

04 Grammar L2 Answers

Matt leaves the pet store and goes for a walk with his dogs.
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Polite Non-Past Form

nw) E— /) #H/ RHEET /%

- ‘E‘i@\ t“"_-}l/% gﬁ%‘ij—o

Maishd, biiru o nomimasu.
Every week, (1) drink beer.

Tt /13 / BulLw/ HL—
— L=l BHYLWTT,
Karé wa oishii desu.
The curry is delicious.

FEWTY, TRTTL




(2] &/ TT /47 ) bl
— bl wA7TH,

Watashi wa Maiku desu.
I am Mike.

R/ ERTHAL / %/ HAIT
— #HIZ A% HLIHA.

Mai-nichi wa hon o yomimasen.
(I) don’t read books every day.

(4] xFx¥ /5B / k/ vev
- 42H, Y¥V%& 239,
Kyo, shatsu o kimasu.
Today, (I)’ll wear a shirt.

(5] -5kl knw/ 13/ h/ TF
— INlT DFLLLLNWTT,
Kore wa tsumaranaku nai desu.
This is not boring.

6] rFnweo>/BE/1X/ TY
- B&lE ~VwE>TT

Okane wa taisetsu desu.
Money is important.

HYET vs. WET

W) BWEHX — VWEHED WFET,
Imoto ga imasu.
There is my younger sister.

] <A = RAD BUET,
Pen ga arimasu.
There is a pen.

(2] 30 - SEUS WIS
Futari ga imasu.
There are two people.

PUE > PUER BUET,
Kaigi ga arimasu.
There is a meeting.

4] iy — wledr WIT,
Isha ga imasu.
There is a doctor.
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Counters

)

W

W XD
issatsu
one book

SAIXA
sanbon
three cylindrical items

op [o]
b [op

i)

AolEn
roppai
6 cupfuls

FBo M
mikka
The 3rd (day of the month)

312D
futatsu
two (items)

7=
futari
two people

=

ALL-XASA

roku-ji sanpun
6:03
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o TATV

hassai san-mai

8 years old three flat items
Adjectives

NN) HZ2IT KEWN KTD HUET
Asoko ni okii hoteru ga arimasu.
There is a big hotel over there.

1] 434 2K—vid AF—TT,
Suki na supotsu wa sukii desu.
The sport (1) like is skiing.

2] 4SBO »H»0XlX FuweEo> T,
Kyo no kaigi wa taisetsu desu.
Today’s meeting is important.

HrELIE BmEZWE—ILE fhaIEi,

Watashi wa nurui biiru o nomimasen.
(D) don’t drink lukewarm beer.

FU3AhiE BELAVATT,
Dan-san wa omoshiroi hito desu.
Dan is an interesting person.

(5] HLEE PEEIAD EALIIVTT,
Ashita wa Yamada-san no tanjobi desu.
It is Mr. Yamada’s birthday tomorrow.

(6] nblx Xhuwig BT,
Nara wa kirei na machi desu.
Nara is a pretty town.
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The (¥ and » Particles

nw) b=L/ TT /3 / D
— =Ll YILTT,
Watashi wa Jiru desu.
Iam Jill. (lit., As for me, Jill is.)

II] TxF¥ /BHREZE /I /) 37—3A /N
— IT7—XAIT BRZBH)N TXFT,
Mira-san wa Nihongo ga dekimasu.
Mr. Miller speaks Japanese. (lit., As for Mr. Miller, can do Japanese.)

(2] zLx—¥—/ BUET / » /12 / %2
— ZZ2I2 Il RXR—=¥—=2 HUFT,
Soko ni erebéta ga arimasu.
The elevator is there. (lit., There, the elevator exists.)

3] Zzo \ #E2nzHA \ 1T\ ITA
— ZOIFANE EHITEA,

Sono hon wa yomimasen.
() don’t read that book. (lit., As for that book, (I) don’t read.)

4] 13/ ARAUAN/ TE [/ HUIRXA
— U RAXAIZ AL VAT,

Santosu-san wa Supein-jin desu.
Mr. Santos is Spanish. (lit., As for Mr. Santos, Spanish person is.)

5] »/ B/ TY/uvEn
— B2 W/EWTT,
Me ga itai desu.
(My) eye hurts. (lit., eye pain is.)

Question Words

) A (YARR) HL—T3 0,
B: XX #HL—TT,
A: (Donna) karé desu ka.
B: Yasai no karé desu.
A: What kind of curry is (this)?
B: (1t) is vegetable curry.
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A () A R=T4—IT RFT,

B: bLDY N—=T4—IT RIT,

A: (Dare) ga patii ni kimasu.

B: Tomu ga patii ni kimasu.

A: Who is coming to the party?

B: Tom is coming to the party.

A: (212 & BXNETI,

B: VAT T,

A: (Nani) o tabemasu ka.

B: Ringo desu.

A: What are (you) going to eat?

B: An apple(s).

Ar HI-5T (¥T) I T3FTH,

B: BBIMNIZ TXF7,

A: Asatte (doko) ni ikimasu ka.

B: Osaka ni ikimasu.

A: The day after tomorrow, where are (you) going?
B: (I) am going to Osaka.

A WEIEIAIT (YD) 1TH5LE BWELED,
B: #HhWIHILE EWIl/z,

A: Imoto-san wa (dono) boshi o kaimashita ka.

B: Akai boshi o kaimashita.

A: Which hat did your younger sister buy? (lit., As for younger sister, which hat bought?)
B: (She) bought the red hat.

Ar zhUx (BA) THH,

B: 2Nl ZAUDTT,

A: Sore wa (nan) desu ka.

B: Kore wa enpitsu desu.

A: What is that? (lit., As for that, what is?)

B: This is a pencil. (lit., As for this, pencil is.)

Ar TORUIE (WB) TEh,

B: 500 HTY,

A: Kono pen wa (ikura) desu ka.

B: Gohyaku-en desu.

A: How much is this pen? (lit., As for this pen, how much is?)
B: 500 yen.

223



224

Grammar L2 Answers

JLPT-Style Questions

1] 7AUAHEF T (KEW) EHTY,

Amerika wa totemo (okii) kuni desu.
America is a very big country. (lit., As for America, very big country is.)

1 RECT 2 RExWZ 3 KRXX 4 KXW
okikute okii na okisa okii

The correct answer is #4.

REW is an L -adj, which does not require any special changes when placed in front of a noun.

Other Answers

K% T - This is the T -form of the adjective which can be used to link adjectives together. You
can read more about that in Lesson 4 (page 81).

REWL - Since KX\ (okii, big) is an \ -adjective, it doesn’t need the 7L particle when it goes
before a noun. 7% -adjectives do need the 7% particle.

KX X - You can change an \» -adjective into a noun by replacing the final \» with X . So, this
word means ‘bigness’ or ‘the size or dimensions’ of something.

(2] A TZonl—it BOLWTT D,
“Kono karé wa oishii desu ka.”
“Is this curry delicious? (lit., As for this curry, delicious is?) ”

B: Tvwinz, (BWiLLmWw) T,
“lie, (oishiku nai) desu. ”
“No, (it) is not delicious.”

T BOLWTIEEY 2 BuLrgwn 3 BulLn 4 BLlLw
oishii dewa nai oishika nai oishii oishiku nai

The correct answer is #4.

Speaker B says WM\ % at first, so we need a negative sentence for the answer. H L {72\ is the non-
past negative form of B\ LW (BUWLULY — W + (7L ), which makes it the best choice.

Other Answers

BWLWTIIZ W — TIXW can be used to negate a 7% -adjective, but not an \» -adjective like Hu»
Luy.

B LA W - This is an incorrect form of the negative non-past. The test will occasionally have
answers that look like the correct one, but are one kana off.

B LWy — This is the regular affirmative form of the \» -adjective. However, the sentence needs to
be negative.
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=

B IAIE (FAXD) ATT,
Tanaka-san wa (genki na) hito desu.
Mr. Tanaka is a lively person. (lit., As for Mr. Tanaka, lively person is.)

1 A 2 WAELEW 3 AT 4 A
genki genkiku nai genki de genki na

The correct answer is #4.

\TA/X is a 7% -adjective. When a 7 -adjective comes before a noun, you need to add the 7 particle.

Other Answers

\TA X - 73 -adjectives cannot be placed in front of a noun by themselves; they need the 7% -particle.
A X — 1FA % ends in U so it is easy to mistake it for an ) -adjective, but it is actually a

74 -adjective.

ITA X T - You can use the T particle to turn a % -adjective into an adverb, but that is not what we
need here. You can read more about adverbs in lesson 7 (page 139).

A: Ta—E—'350TT 1, |
“Kohii ga kirai desu ne. ”
“(You) hate coffee, don’t you?”

B: Tdw, Z£7T¥4, (%) THH.)

“Hai, so desu ne. (Suki) desu ka. ”
“Yes, that’s right. Do (you) like (it)?”

1 XTI HUFEA 2 X
suki dewa arimasen suki

3 FELTWN 4 T3
sukiku nai suki na

The correct answer is #2.

Although ¥ % is a 7% -adjective, we do not need the 7% particle before T .

Other Answers

TETIE HUEHEA -Itis possible to ask $XTIX HYFEHEAD, but we cannot normally use T
7 after HIFEA .

T %7\ - ¥ % is not an \» -adjective, so this ending doesn’t work here.

9 %70 - The 7 particle is normally only necessary when you place the 7 -adjective in front of a
noun.
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(5] Bl R (Lm0 T
Kyo wa tenki ga (yoku nai) desu.
The weather isn’t good today. (lit., As for today, the weather is not good.)
T g 2 L<n 3 LW TRN 4 WVWTIE AW
ikuna yoku nai iikute nai ii dewa nai

The correct answer is #2.

The word W\ (i, good) has an irregular form, J\» (yoi), that is used for the past and negative
forms. LUy — W + {720,

Other Answers

WUy — We must use the irregular form LUy for the past tense of W .

WS TR — The T -form can be used to link adjectives together as we will learn in lesson 4 (page
81). However, we cannot use that form with 7.

WWTIEZR W — T can be used to negate a 73 -adjective. However, W\ is not a 74 -adjective.

)

(CAR) MITAN FTEXTTD,
(Donna) kaban ga suki desu ka.
What kind of bag do (you) like?

1 ¥z 2 ¥bLh5 3 YAR 4 ¥in
doko dochira donna dore

The correct answer is #3.

¥’ A7 means ‘what kind of’ or ‘what’ and usually goes before a noun.

Other Answers

Y'Z - ‘wWhere’

UFrHVAlE ET2TTH,
Byoin wa doko desu ka.
Where is a/the hospital?

¥'5 5 — ‘which way’. This is usually used by itself and not in front of a noun and is a very polite
way to ask ‘which’.
VAZY X+ ¥Yb5608 $XTEH,

Ringo to banana dochira ga suki desu ka.
Apples or* bananas, which do you like?

* The particle ¥ usually means ‘and,” but for this structure it has the meaning of ‘or.’
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Y'# — ‘which’. This is also usually used by itself and not in front of a noun and is more common
and casual than ¥'5 5 .
Yns BEREIAD IZEDTTD,

Dore ga Tanaka-san no nimotsu desu ka.
Which is Mr. Tanaka’s luggage?

A THAWEIX (WD) THA |
“Kaigi wa (itsu) desu ka.”
“When is the meeting? (lit., As for the meeting, when is?) ”

B: THwlwID ALIHTY,]
“Raishl no getsuyobi desu.”
“(It) is Monday of next week.”

1T WD 2 I 3 14 4 XInb
itsu dare nani doko kara

The correct answer is #1.

Looking at B’s answer, it looks like A is asking about what time the meeting is, so Vx> (itsu, when)
is the best answer.

Other Answers

74 - ‘who'

ENnS pnEID ATXETA,
Dare ga kaigi ni ikimasu ka.
Who is going to the meeting?

{7 - ‘what’
fx  BXTHNETH,

Nani o tabete imasu ka.
What are (you) eating?

Y'ZH5 — ‘from where’

HPIALIE YIrs RFELED,
Tanaka-san wa doko kara kimashita ka.
Where is Mr. Tanaka from? (lit., As for Mr. Tanaka, where from came?)

Ar TYxHUIE (¥H) TTh.]

“Ryori wa (do) desu ka. ”
“How is the cooking?”

B: I—Ek\th\fj_oj

"Oishii desu.”
“(It) is delicious.”

1 Y9 2 e 3 hn 4 W5
do naze dore ikura
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The correct answer is #1

Looking at B’s response we can tell that A is asking how the cooking was, so the right answer is ¥
(do, how).

Other Answers

e - ‘why’

Y O wLWEEZ BWFELED,
Naze atarashii kuruma o kaimashita ka.
Why did (you) buy a new car?

Y1 - ‘which’

EELOWEDIE YNTTh,
Tadashii mono wa dore desu ka.
Which is the correct thing? (lit., As for the correct thing, which is?)

9] A:TZh1z (¥2) o HO BBTTH,
“Sore wa (doko) no kuni no kuruma desu ka. ”
“What country’s car is that? (lit., As for that, which country’s car is?) ”

B: T7AVADTH, |
“Amerika no desu.”
“(It) is American. (lit., American one is.) ”

1 Y2 2 1T 3 Eh 4 rhn

doko nan dare dore

The correct answer is #1.

From B’s response you can tell that A is asking about a place. That makes ¥ Z (doko, where) the
best answer.

Other Answers

1] - ‘what’
The word ] (what) is usually pronounced 7£1Z (nani). However, when it is placed before 7=, T, or O,
the pronunciation changes to 7L A (nan). It is often used with 5L (hanashi, talk).

Ao @EwLZE  LThEd0,
Nan no hanashi o shite imasu ka.
What are you talking about?

=1 - ‘who’

NN pnWXID ATEET,
Dare ga kaigi ni ikimasu ka.
Who is going to the meeting?
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Y'# - ‘which’
EELOLWEDIE T,

Tadashii mono wa dore desu ka.
Which is the correct thing? (lit., As for the correct thing, which is?)

A: Tuhnar fazr (Yb55) 28 $XTEH.
“Inu to neko to (dochira) ga suki desu ka.”
“Which do you like — dogs or cats? (lit., Dogs and cats which like?) ”
B: T\ %XT, |

“Inu ga suki desu.”
“(I) like dogs.”

2 XhCoun 3 865 4 Y2
dore gurai dochira doko

The correct answer is #3.

—_
o (X
(o] <

Speaker A gives us two choices, and the answer is one of those. So, the best answer is ¥ %5 (which).

Other Answers

¥ - ‘how’
LTkl ¥IHTEr,

Shigoto wa do desu ka.
How is work? (lit., As for work, how is?)

Y50 - ‘how long’
RRET INCHVDDIYET D,

Tokyo made dore gurai kakarimasu ka.
How long does it take to get to Tokyo? (lit., To Tokyo, how long takes?)

¥'Z - ‘where’

UEIVAIE X¥ITED,
Byoin wa doko desu ka.
Where is a/the hospital?
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